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X % 4 | 500m | 1000m|1500m|5000m| 10000m | 2000mR | /8> a—k| /A | B
EM K= 1 1 7 (20£:1) - - 9 7
BiEXZ (260) | (1460 5 17 13 - 3 38 3
BEKRE (10£i) 6 8 (10£i) 2 - 16 4)
BAXZ 16 7 8 3 (134i) 7 41 2
BAKEKRZ| 3 5 2 (134i1) 3 3 7 23 5
Bl K% 16 6 - (o) 6 5 1 34 4
BB R | (ofD) 3 - 3 (ofeD) 1 7 8
BREXE | @ 8 6 13 12 - 5 44 1
28 BF

X # 4% | 500m [1500m|3000m|5000m| 2000mR | 78 a—k| B/&R | IES
LmEHFRE 1 - - - - 1 8
E1§2 PN 5 5 - - - 10 6
R K= (10f) - (ofiD) (ofiD) - 0 9
EIPRE - - 9 11 - 20 3
ERZFRKE 2 2 3 5 - 3 15 4
BIoEBKRF 3 4 (10fe1) (10f) 5 1 13 5
KEXIEKRZE 4 10 9 5 Ji ) 40 2
FRKE 8 - - - - 8 ]
SABUR 13 15 15 15 3 7 68 1
TF

X # 4% | 500m [1000m|1500m|3000m| 2000mR | 78 a—k| H/&R | IES
EMKZE 11 15 12 9 Ji ) 29 2
BREEIKXZF (18f:2) (st | 16k (164) 0 7
REXEXRZF (1541 (1541) (o) 3 - - 3 4
RIEKRE (1742) (174 - 0 8
RRXFHRERE (1042) (1140) (124:1) (124:1) 1 - 1 6
BAGKREKRE 7 9 9 15 3 7 50 3
B R R 2 18 12 15 9 5 3 62 1
BAXZE (of) (12f) (134) (134) 1 1 5




